Evaluate and Simplify

1 [7-2(4-5)+7(2)]-3[4(5-7)-(8-3)]
A. -16 B. 18 C. 32
D. 62 E. NOTA

2 Evauate: X(3x-5y-7),whenx=3andy=-2.

A. -24 B. 15 C. 36
D. 44 E. NOTA

3 5\
o W
Simplify: (7j
A, WOE B. w° C. w

K x

D. wx® E. NOTA

4 Bvduae (-5)°(2°)(4°)(5°)
A. 04 B. 25 C. 9375
D. 10 E. NOTA

S Simplify in lowest terms; v/750

A. 10J75 B. 274 C. 7510
D. 530 E. NOTA

6 Simplify: (x2 —2x—7)—(—3x2 —5x+3)

A, 4x*-7x-10 B. 4x*+3x-4 C. 4x*+3x-10
D. 4x°-7x-4 E. NOTA

7 4(3+17)-3(2x6-2)+2(2+8+2)x2+10

A. 84 B. 100 C. 338
D. 642 E. NOTA
8 3 2 1
Evaluate: (252j(83j(1000 SJ
A. E B. 5 C. 50
5
D. 100 E. NOTA
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9
Find the value of \/§_\/i
4 9

A 2 B. 1 C. 9
9 4
D. 45 E. NOTA
10
gi
Simplify: | — 9 [9(\/1_6+\/E)}
1
9+~
9
9+919
A. 81 B. 892 C. 922
81
D. 729 E. NOTA
11
(lj(gjﬁj. (%X 99) S. Find thevaueof S
2)\3)\a) 99\ 100
A. 001 B. 1 C. 05
D. 15 E. NOTA

12 22422 4B 4B 4+ A2+ 42+ 5 + 5 162 +6°
TP+ 7P +8+8+9 +9°+10° +10°
of the multiplicative inverse of x.

= X. Find the reciprocal of the additive inverse of the opposite

A 49 B. 15 c. 49
15 "9 15
D. 15 E. NOTA
49
13 Hind 2ifais2 of bandbis 2 of c.
c 3 7
A 10 B. 14 c. 7
21 15 10
D. 9 E. NOTA
8

14 (Q?)(8)=(9"), then Q=2
A. 9 B. 2 C. 3or-3
D. 10 E. NOTA
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15 simplify 3V63-2/28++/175
A. O B. 8/7 C. 1047
D. 2./210 E. NOTA
16 By definition, VM2 isequal to
A M| B. -M C. M
D. M E. NOTA
17
Simplify: 1(}+1+l+—+ j+3(1+l+l+ij+5(l+l+lj+7(1+£j+9(lj
1 2 3 4 2 3 4 5 3 4 5 4 5 5
A. 10 B. 9 C. 15
D. 91 E. NOTA
2
18 1-2+3-4+5-6+7-8+---99-100=
A. -100 B. -50 C. -49
D. 50 E. NOTA
19 Wheny+9=17, which of the following is true?
A. y:(2!)3 B. 23! C y:(2!)3'
D. y=8I-7 E. NOTA
20 SimplifyL
4
[}
6——
3
A5 B. 4 C. 5
16 5 4
D. 80 E. NOTA
9
21 65y
Simplify(
A. 6X15y9 B. 6X8y6 C. 6x15y6
5 5 125
D. 216x°y° E. NOTA
125
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22 Evaluate: 1 + 2 + 3 +---+L Express your answer as afraction in ssmplest form 9
1.2-3 2-3-4 3-4:5 98-99-100 a
Find a+b
A. 149 B. 24749 C. 14851
D. 194 E. NOTA
23 Findthesumof 3+7+11+---+483
A. 29160 B. 29403 C. 31127
D. 33589 E. NOTA

24 When the following expression is simplified it can be expressed in the form x*y°:

X2y -2
( j . Find the average of a and b.

A. 4 B. 14 C. 16
D. 28 E. NOTA
2 729
Smpllfy&w
A. 3 B. 81 C. 14,348,907
D. 3,486,784,401 E. NOTA
26  Simplify:
3 2 3
(¢) (') (¢y)
5
(xy)” xy(xy?)
A x3y2 B. X4y2 C. X5y4
D. xoy® E. NOTA

27" 1f the table below defines certain values of afunction f, thenwhat is f ( f ( (f (5)))}?

Ll
=
Lh

s 1

B |4 1]4|0]2

A. O B. 1 C. 2
D. 4 E. NOTA
28 , .2 .. ,

If theratio of 2x—y to x+Yy |s§,f|ndtherat|o of xtoy.

A. 4 B. 1 C 1
5 5

D. 6 E. NOTA
5
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29 __(n=2)!(n+1)
Whatlsw

A. (n_Z)! B. n=n=2 C. n-
n_

, for nan integer greater than 3?

N

w

D. n’—-2n+1 E. NOTA

30 Thenumerator of afraction isatwo-digit number. The denominator isthe two-digit number that results
from reversing the digits in the numerator. The value of the fraction is4/7. If the sum of the digits of the
numerator is 12, what is the product of the digits of the numerator?

A. 32 B. 35 C. 36
D. cannot be determined E. NOTA
31 ] 1+1+1+2+2+2+3+3+3+---99+ 99+ 99+100+100+100
Evaluate' 2 2 2 2 2 2 2 2 2 2 2 2 2 2
P+l +12+22+22+ 22+ 3P +3F + 3 +.--99° + 99 + 99 +100% +1007 +100
A. 001 B. i C. 1
201 5050
D. 1 E. NOTA
3
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